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Part | (50%): M5B S

1. (10%) BEERETFIAHE: (1) fEEmEER (2) RERE (QE).

2. (5%) BRFEESENEBEEE 500 billion , /RBFME GDP 43 10000 billion ELE 5000 billion. &
RO ARk e (2% ) RO B B (3%) BT 2

3. (15%) ¥R HBEAEEEH(GDP)E 5000, HHEHER C=1,000+03(Y- 7)), RAEHS
I=1,500-50r, b rSWEFE. RET B 1,000, BIFZH GR& 1,500, KEFEOER, LS
RIETHEE C. BF . FlEEr . WFEEF (national saving) BURFAA % (private saving).

4. (10%) FEHA D (S HBA)YRRETFIR 1.6% . HREEHKE Cobb-Douglass, Y=AKL"’,
p=04, K.L.ARNBEE. 58, UREFGRA, YRSEARROEEL. 4 Ay % GDP
MRS (Hi R s thERERRR). NEZEENREERRENRREY 1/4, BERZAOML/KH
BREER 0.3%. T

(a) = GDP REFHRM?
(b) FEFWHIREERM?

5. (10%) ER—ESHRAEE, SEEKY = AF(L,K) = AKL"® (EEZHHTE)8 Solow model .

& BEEE, - BWE, ERALSE. ERFHBEAEZREERE (steady state) K
(a) FHEHIEEREBRISE KR Y,
() EEEHBALFE Cobb-Douglass, MEY=0K, 0R—EFE. FRESREN Y*RE?

Part Il (28%): True or False:

Determine whether these statements are true or false, and briefly state your reasoning (less than 100 words):

1. (4%) True or False. If the demand for lettuce falls, the price will fall, causing the demand to go back up.

2. (4%) True or False. The discovery of a new method of birth control that is safer, cheaper, more effective,
and easier to use than any other method would reduce the number of unwanted pregnancies.

3. (4%) True or False. Apple computers contain hard drivers made by other manufacturers. If Apple made
its own hard drives, Apple computers would be cheaper.

4. (4%) True or False. If department stores were made liable to their customers for the effects of assaults
that occurred on site, the number of such assaults might go up.

5. (4%) True or False. If a new law states that married men have the duty to do at least half the
housework (or, wives have the right to make such a request), then a lot of men will have to do more
housework than they do today.

6. (4%) True or False. Monopolists can achieve any level of profit they desire because they have unlimited
market power.

7. (4%) True or False. When all firms in an industry charge the same price, this is evidence of collusion.
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Part Il (22%): The Demand for Youbikes in Taipei City

Article 1: Excerpts of “With End of Free YouBike Rides, Taipei Sees Better-than-Expected Results” from
Total Taipei.com, April 1, 2015

The free half hour of use for the YouBikes came to an end in Taipei today. The first half hour is now NT$5.
Tt was previously free for 30 minutes and then NT$10 for the second half hour. The city changed the pricing
scheme because most YouBike users only rode the bikes for less than 30 minutes, which cost the city
millions in annual revenue. ...(omitted)... On the first day of the new pricing scheme, the city saw better-
than-expected results. From 6:00 to 12:00, the number of rides on the YouBikes totaled 17,338, compared
with 21,553 for the same time period yesterday. The city expected usage to fall to 70% of previous usage

numbers...

Article 2: %2015/05 Turnover Rate per bike per day” from www.youbike.com.tw, June 2, 2015
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Answer the following questions:

1. (5%) Estimate the elasticity of demand for YouBike rides using the midpoint method based solely on the
numbers reported in Article 1. Is the demand elastic or inelastic? What assumptions do you need to
make to reach this conclusion?

2. (5%) Now estimate the elasticity of demand for YouBike rides using the midpoint method based solely
on the monthly information of March and April 2015 reported in Article 2. Is the demand elastic or
inelastic? What assumptions do you need to make to reach this conclusion?

3. (9%) What is the change in average turnover rate between March and April 20147 What would the
April 2015 average turnover rate be assuming there is a fixed yearly cycle in demand so the same change
would have occurred between March and April 2015 had there been no price change? What is the
elasticity of demand for YouBike rides based on these numbers? Is the demand elastic or inelastic?
What would have happened if YouBike charged NT$10 instead of NT$5 for the first half hour?

4. (3%) Compare your estimates for the above three questions. What does this tell you about the

assumptions made? What is your policy recommendation to the Taipei City government?
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